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Class - IX
MATHEMATICS

Time : 3 to 3Y2 hours Maximum Marks :
YT : 39 31, T Afreram o :

Total No. of Pages :
% J3] hl A :

General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.

| e

1.
2.

[t g e € |

TYYE-TAH 34 U S AR @ § 3, &, §a € H fawifed 31 @ueg - 21§ 10 7 ¥ iR v+
Y 1 Ak FHE, @US - TH 8 T ¢ 3 TIF Y3 2 ki & &, WUS - §H 10 Y37 & 3R yAF
9 3 3] 1§, WUS - TH 6 9 ¥ 3R I 99 4 3T 1 2|

T G 1 9 10 Tgfosmedd 39 ¥ 1 feu e uR famed § @ Uk wet faskey o |

30 2 off gafal fasmey 761 8, wifer a7idafier foehed 1 999 2 il §, 3 U9 3 Rl § 3R 2 T
4 3 ¥ feu U €1 o9 fou U foshedl § 9 U famey &1 =waT |

FAFAR HT FAN afsld B

TG YY-TF &1 TeA & farq 15 fiee o1 993 fen men 1 39 srafy & SR o et I9-93 &t a8
3R 9 IW-JRaeh W e W Tl fea |




SECTION-“A’

Question numbers 1 to 10 carry 1 mark each.

Which of the following is not the value of [ 515
6

-1 1
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If two interior angles on the same side of a transversal intersecting two parallel lines are in
the ratio 2 : 3, then the larger of two angles is :

(A) 72° (B) 108° (C) 54° (D) 36°

AABC=APQR. If AB=5 cm, ZB=40° and £ A=280° then which of the following is true ?
(A) QP=5cm, ZP=60° (B) QP=5cm, ZR=60°
(©) QR=5cm, LR=80° (D) QR=5cm, £ZQ=40°

The things which are double of same thing are :
(A) equal (B) halves of same thing
(C) wunequal (D) double of the same thing

A number is an irrational if and only if its decimal representation is :
(A) non-terminating (B) non-terminating and repeating

(C) non-terminating and non-repeating (D) terminating

The degree of the polynomial 2 —y?—13+2y” is :
(A) 2 B) 7 < 0

Ordinate of a point is negative in :
(A) III and IV quadrant (B) III quadrant only
(C) II and II quadrant (D) IV quadrant only

940111 - A2




In figure 1, a ray stands on a line. If x=30° then y is equal to :

5
2x Y

< >
Figure 1

(A) 20° (B) 24° (C) 25° (D) 36°

Euclid’s stated that all right angles are equal to each other in the form of :

(A) an axiom (B) a definition (C) a postulate (D) a proof

If E is a point on side QR of APQR such that PE bisects ZQPR, then :

(A) QE=ER (B) QP> QE (C) QE>QP (D) ER >RP

SECTION - ‘B’

Question numbers 11 to 18 carry 2 marks each.

In figure 2, if x=61° and y=118°. Is m||n?

Figure 2

Plot the points A (3, 0), B (3, 3) and C (0, 3) in a Cartesian plane. Join OA, AB, BC and CO.
Name the figure so formed and write its one property.
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13. Infigure 3, is line I || m ? Justify your answer.

Figure - 3

16

RN

Simplify [— 9

A point lies on x-axis at a distance of 9 units from y-axis. What are its coordinate ? What
will be its coordinate if it lies on y-axis at a distance of —9 units from x-axis ?

In AABC, £ZB=45°, ZC=55° and bisector of ZA meets BC at a point D. Find ZADB.

Simplify ¢/81 — 8 3216 + 15 332 + /225 -

In figure 4, AC=XD, C is midpoint of AB and D is midpoint of XY. Using an Euclid’s axiom,
show that AB=XY.

B X
/ x
A Y

Figure 4

OR

Lines PQ and RS intersect each other at point O. If ZPOR : ZROQ=5 : 7, find all the
remaining angles.
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SECTION -‘C’

Question numbers 19 to 28 carry 3 marks each.

E and F are respectively the mid points of equal sides AB and AC of AABC. Show that
BF =CE.

OR
In figure 5, line segment ABJ||CD and O is the mid point of AD. Show that
(i AAOB=ADOC.

(i) O is also the mid point of BC.

C D

— p
Express 0.001 in the form of a, where p and q are integers and q= 0.

241 100y 2
2 x

X

Factorise : x

OR

Determine whether (3x —2) is a factor of 3x3+x2—20x +12.

Find the area of a triangular park whose sides are of length 120 m, 80 m and 50 m.
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In figure 6, AB||CD, CD||EF and y : z=3 : 7, find the measure of x, y and z.

z

"

Figure 6

Simplify : (a+b+c)2—(a—b—c)%

Locate /5 on the number line.

Show that the angles of an equilateral triangle are 60° each.

Expand the following :

@) [%x + 1]3 )

(i) (3a—7b—c)2

6 — 43

Simplify the following by rationalising the denominator : ENE

OR

1

Ifx=2+x/§,findthevalueof 2 +t—.
x
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SECTION - ‘D’

Question numbers 29 to 34 carry 4 marks each.
If the polynomials ax3+4x?+3x—4 and x3>—4x+a leave the same remainder when divided
by (x—3), find the value of a.

In figure 7, AC=BC, ZDCA= ZECB and ZDBC= ZEAC. Prove that (i) ADBC=AEAC
(i) DC=EC and BD = AE.

D

C
Figure 7

If a+b+c=9 and ab+bc+ca=40, find a2+b?+ 2.

Prove that the sum of the angles of a triangle is 180°.
OR
Prove that the angles opposite to the equal sides of a triangle are equal.

D is a point on side BC of AABC such that AD=AC. Show that AB > AD.
OR

In figure 8, the side QR of APQR is produced to a point S. If the bisectors of ZPQR and

ZPRS meet at point T, then prove that ZQTR = % ZQPR.

P T

R
Figure 8

Without actual division, prove that (2x* — 6x3 +3x2 + 3x —2) is exactly divisible by (x?—3x +2).

-000-
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AP - 18 T 0 T W R TS B AR x=30°TAy FIAA T :

(C) 25° (D) 36°
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